Math 151 Sec FO7TNO4 - Quiz 6 Name:
Nov 9 2007 Stugt: SOLUT/ onvs

(1)[5 points] Sketch the graph of y = |12 — 2z] and give the = and y intercepts.
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(2)[5 points| Let f(z) =
domains for each.

(¥03)(x)=°°(3tx9= J _

2 (x’-'v-t) ~ 2%+

r— and g(z) = 22+ 1. Find f o g as well as g o f and state the
‘T —_—

an' G‘(OWW) we. we%mve thet 2()(3;">-f $O.
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2 -
Z2x +| =0

2z =
X =3

[}
L]

; b Vens nd veal So‘u.:f‘ionS.
Aomoan o4 4:'°j (s (- o0, ) ’

(go‘P)("x) = ?(‘plm) = <—§llx))1+l 3(—L}L+{
S X-)

SO"’""‘} 2x=| =0 we Pinod =7 .
. . 4
L oolomoin b gef S5 (ce,2)U(Fi%).

(3)[5 points] Let F(z) = (2° +2z)? + 5v/z2 + 2z. Find functions f and g such that F = fog.
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Let GO = X+ 2¥

Lex)y = Xl-t-S’J-')?
Che kK ! (-Cug)(;r)= ?(‘jw?
= (?(x))L-* S Vg

= (7CL+Z)c)l+ Sixte2x
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